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58 59
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0.4 0.4
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Q2 HLE-DHEEFEEAGHI12H)DEAT, BLIKDTI A,

% A%

201K 40 5.4 5.6
301% 64 8.6 9.0
401% 84 113 118
504% 184 248 260
601% 180 242 254
70m Ll E 157 211 221
AxEIEH 709 954 1000
o] % - fth 34 4.6
=11 743  100.0
FMRlE, EBEL5TED,

%  FHx%
1. B 327 440 456
2. &% 390 525 544
BuEIE# 717 965 1000
e [m] 2 - b 26 35
&5t 743  100.0
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Q3 HLFIFEETICHEEFNCHAL>T AIELWNIGYFET A,

%  BHH%

1. 45 XS 22 3.0 3.1
2. 4%k 56 75 7.8
3. 12Fpk 53 7.1 7.4
4. 20 E 587 790 818
AxEIZEEH 718  96.6 100.0
4% o] 2Z5 - fih 25 3.4

=1 743  100.0

Q4 CREDEREBHA TS,

% A%

1. BEFEROEHR 63 8.5 8.9
2. BEF ottt 256 345 36.0
3. RIFFEIFOHTE 256 345 36.0
4. — A5 73 98  10.3
5. ZD 63 8.5 8.9
AxEIZEH 711 957 100.0
0] & - ith 32 43

=1 743  100.0

BE.HEEBEDEFIANNSGEEE. SLO2MZLGTAE. [ TRAOHETIE
FHLDETICOZMFIFTTESLY,

%  H%

FREFHI 38 5.1 5.3
INFEHE 37 5.0 5.2
A 32 43 45
=& 39 5.2 55
ZDith 104 140 146
SCALL 516 694 726
AxEIZEH 711 957 100.0
% [0] & - ith 32 43

&&t 743  100.0
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Q5 HE-DBEIIFTTH,

% A%
1. EMEE 23 3.1 3.2
2. HE% 67 9.0 9.4
3. NTEE 34 46 48
4. 2 & (EER) 37 5.0 5.2
5. 88 (—HEE) 130 175 183
6. 1F 204 275 287
7. 5% 7 0.9 1.0
8. R 169 227 237
9. ZTMith 43 5.8 6.0
AxhEIZE# 712 958 100.0
O] % - ith 31 4.2
&it 743  100.0

F-EFEHIE, EBE5TI D,

% A%
1. gEBHR 234 315 796
2. ILOBMR 21 2.8 7.1
3. LERMA 37 50 126
4. TNk 7 0.9 2.4
AEZEH# 294 396 100.0
0] & - ith 449 604
A&t 743  100.0

Q6 HLEEDHERFEZELATIESD, (EFEP-FIRIFZEFELED)

%  B3%

1. hZRZ (IBFI/NE-BFINFEE) 114 153  16.0
2. BRZ (I8 ZR) 381 513 536
3. BE-EX-BEBERE 107 144 150
4. RE-KZEkEZ 109 147 153
AxhEIZE# 711 957 100.0
0] % - ith 32 43

&it 743  100.0
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